EzEiE (Bt

HEs= 2011/03/20 05:00
vV +ERBIE (2011/03/20 05:00) £T

)

7T

=

_ S

EEE KEBE

A bl 0 141702100 — 37725712

fAIsg : 92km X 92km

EREE = 12000 m

Y4 bLEHEDRE 0 dE 5.4 m/s
ARREE : DR

STEEFING= PHYSIC
SHEAY B KFEHAE= 200 kn
[A.61] " | |
RERZR

- 10 m/s

O SBEREE 1 —2



- ARRHRE (3UR) (HEm) BBRE1 28F LER o Mt 141702708 — 37°25°18
HE$= 2011/03/20 05:00 - 2011/03/20 06:00 | $Ag: : 92km X 92km
SRT—% = GPV-+EME (2011/03/20 05:00) T RREE = 1.00m

= RO
?E.%iﬁ {,, AR IREFERR Ba/m3)
407k ek

1=5.00x10 10

jis \’” J‘, ) 5 2=1: UGX10 '"10 --6---\,-

S T e 3=5.00%10 711 emcommomm
i _ ik ol ’-"’=? 4=1.00%10 1 e~eccecwe
,-__,.ﬂ.,ﬂ:;,; ’H--?::_;"j'#? “”%m 5=5. 00%10 =1 ars—
%]%k e BARE=77x10 ~108a/m3
AR T = Mt SO 0.9 kit ($ED)

AT el s SRR e REETLE= PRADAZI

el ae EREFNE= BEEFI
el BT _ GEETD) |
0 i L m SHEE T N LITTGE ' e HEAYa0E KFEHE= 1.00 kn
LT - Bfm L BEeEER P o HMEE = 10. 0m
T R e ' dErn e e BREERE  =20000 MWD/MTU
CoRaTbe e SR A EESZ=2011/03/11 16:00
e S T dBItARS %I =2011/03/20 05:00
Rt - HOHE — K= AR Y
=y ’J‘mT HIHEHE- M ) : Bu/h B
%ﬁn f\\ vk 11.00Xx10 ® (1.00X10 %)
e Elllﬁ :Faah‘
T~
—‘F %ﬁismm et

—40%“” \ m]

~60 k‘m"\ EJIIH F49 km 0 5REMES 1 -2




ERRIIRE R ' g EEBE1 282F LKEER

HE= 2011/03/20 05:00 - 2011/03/20 06:00 BiER =%FHR
[KT—F = GPV+EAME (2011/03/20 05:00) £T

40 kC g RS % fﬁ

B . / { k\":..r:lﬂ‘ 2 ':ﬁ‘ ﬁﬁgﬁ o
e 0 k A : ‘. : \ﬂ\_\[ \_ =4 "'\,‘/ ‘ _ : Bk

e J‘X{“N_L'Sd F 4 N
- = 3% 5 L Tl a5
Bt mAm o E
S i b W

. & : —l .Af ﬁlr‘)\-‘\\ Lr "“'\_,-..‘./-.__‘_\_AJA" \\-_?_ ‘%

T ‘7\\4 : : o S
by il s - “IWH S

: \\ S i §

'''''

et T (
- -'J ; N : 3
‘EF%*‘TE JIIET 5ol ¥

\
e Sl E‘-.

R A

k2 wRE . LbET

it S ;. 141°02°08° — 37 25° 18"
PRIz : 92km X 92km

[FL$1] :

AR ERZER (uGy/h)

=1.00x10 ~19
2=5.00%X10 716 cccncces
3=1.00x10 16 cmeccmoe
4=5.00x10 17 =—ecemea-
5=1. 00X 10 17 e eeecm=-.

BABEBE=34%10 “1540y/h

Mt mDmE 4.7 kmithsd  (xED)

FHEETIVE= PRWDA21

ERETINE= BEETIN

GEE30d
FEAyalE KkFEAMA= 1.00 km
BtE = 10. Om

- YRBEEE  =20000 MWD/MTU

RFIFEIERZ=2011/03/11 16:00
B ERiAREZ  =2011/03/20 05:00
BHEE— K=BAEKE

MHEE - (lHE) - Ba/h (Ba)
EHR :1.00x10 0 (1.00x10 0)

O SEHEHES T — 2



